
EXPLOSIONSZEICHNUNG

KBS Gastrotechnik GmbH – Schoßbergstraße 26 – 65201 Wiesbaden

www.kbs-gastrotechnik.de 
Stand Oktober 2023



16.11.23, 09:35 Liebherr-HG Ersatzteilekatalog

https://interparts.lex-com.net/ip40_liebherrhg/#/partlist?location=0%2F2AUS001%2FF%2F3GER00190508%2F4PRO998433319%2Fd_998433319 1/4

FKUV >  001 / FKUV 1660-22S >  ERSATZTEILLISTE



16.11.23, 09:35 Liebherr-HG Ersatzteilekatalog

https://interparts.lex-com.net/ip40_liebherrhg/#/partlist?location=0%2F2AUS001%2FF%2F3GER00190508%2F4PRO998433319%2Fd_998433319 2/4



Pos Sachnr Menge Bezeichnung Preis

10 4098192 2 STELLFUSS M8X23 (SW19) 0.82

60 9873241 1 VERDAMPFER VOLLST. LKEXV,LKV,FKUV 62.77

61 7432201 4 VERDAMPFERAUFHAENGUNG F. FREIHAENG.VERD. 0.34

80 7433233 1 FUEHLERHALTER LT. SI 37/2011 0.82

90 9003207 1 VENTILATORABDECKUNG VOLLST. FKUV,LKUV 14.92

91 4098689 4 PLASTOFAST­LIKO­SCHRAUBE 3,5X25 TX15 A2 0.48

92 7412233 4 STOPFEN F.WASSERABLAUFGEHAEUSE 2.40

100 6108751 1 VENTILATOR PAPST 3950 M 230V 78.92

110 7266202 1 ABSORBER 2K HART­WEICH F. VENTILATOR 3.59

120 7435026 1 BEDIENTEILBLENDE BEDRUCKT 21.13

130 7428983 1 HALTERUNG F.EE­PLATINE 3.59

140 6143257 1 INTEGRALELEKTRONIK 47.08

150 7428984 1 ABDECKUNG FUER PLATINE 1.67

160 7437820 1 DRUCKTASTE ON/OFF RAL7043 0.59

161 7437815 1 DRUCKTASTE VENTI GRAU/BEDR. RAL7043 0.59

162 7437818 1 DRUCKTASTE UP/DOWN RAL7043 0.59

163 7437817 1 DRUCKTASTE ALARM RAL7043 0.59

170 7113591 1 SCHARNIERBOLZEN 0.59

180 7744009 3 SCHEIBE F.TUERSCHARNIER 10X6,2X1,0 2.40

+ 190 7110499 1 MAGNET­DICHTUNG PUSH IN GRAU 37.59

+ 200 7744791 1 SCHEIBE F.TUERSCHARNIER 0.34

210 7427739 1 ABDECKPLATTE EDELSTAHLEFFEKT GPES 1456­ 0.34

+ 230 9590088 1 REP.­KIT F. FUEHLER (4,7 KOHM) 30.39

+ 240 9590088 1 REP.­KIT F. FUEHLER (4,7 KOHM) 30.39

+ 280 4098048 1 SONDERSCHRAUBE ST3,9X16 T15 A2­70 0.48

281 7402013 1 ABDECKKAPPE 0.34

300 9020127 1 TUER GESCHAEUMT HARD WECHSELB. DICHTUNG 264.90

310 7424665 2 SCHARNIERBUECHSE KGNVES, KGTVES, KSDVES 0.39

+ 330 7043571 1 SCHLOSS VOLLST 24.96

331 7042961 2 SCHLUESSEL H 277 10.54

340 7043049 1 SCHLIESSBOLZEN FKUV 16/ GGU 15 10.54

350 7043253 1 LAGERBOCK FKUV, LKUV, LKEXV, ETC 3.59

+ 351 4084011 2 SCHRAUBE M5X22 T25 A3K 0.48

360 4098993 1 SCHRAUBE 1.15

370 7043227 1 LAGERBOLZEN 3.59

371 7402003 1 SCHEIBE 15,2X24X1 PE HART, NATUR 0.39



Pos Sachnr Menge Bezeichnung Preis

380 7203697 1 SCHLIESSFEDER FKUV,LKV,LKEXV 1.67

381 7435425 2 LAGERBUCHSE SIGNALGRAU 1.67

400 7428280 2 STOPFEN SILBER 0.39

401 7424615 2 STOPFEN BEST.NR.4059 GRAU KGN..,KGT..50 0.34

410 5941751 1 VERFLUESSIGER GP/GPES 1456 37.59

411 4098344 4 SCHRAUBE FDS M4X12 S A3K 6­KANT SW7 0.48

430 6119239 1 VERDICHTER EMBRACO EMT30CDP 220­240/50 210.32

440 6941014 1 MOTORSCHUTZSCHALTER T 0224/07 30.39

450 6940650 1 ANLASSVORRICHTUNG PTC F.BP 47.08

460 7402888 4 KOMPRESSOR­CLIP 0.82

+ 470 6009909 1 ZULEITUNG EUROPA 2200 MM MIT IEC­KENNZ. 10.54

480 7426428 1 VERDUNSTUNGSSCHALE KUNSTSTOFF V.EMBRACO 1.67

+ 490 5942679 1 TROCKNER MIT VAKUUMANSCHLUSS UL 37.59

+ 500 7700001 1 FUELLSTUTZEN 6X130 1.67

510 7112321 3 TRAGROST 18.07

515 7113265 1 BODENROST METALLISIERT 37.59

520 7433597 1 GRIFF EDELSTAHL 37.59

+ 521 4098144 2 SENKSCHR.DIN EN ISO10642 T20 A2 M4X10 0.48

540 7434027 1 ABDECKUNG D28/Ø18.3, GRAU 0.39

550 7433241 1 ABDECKKAPPE F. BLECH 0.48

560 7434005 1 ABDECKUNG MAGNETHALTER SIGNALGRAU 1.67

570 7501010 1 TUERMAGNET FUER REEDSCHALTER NDFEB 3.59

580 7429157 1 STOPFEN GRAU 0.34

+ 2000 6125219 1 SMARTCOOLINGHUB 311.16

2010 6072320 1 Steckernetzteil SmartMonitoring 37.59

2020 6021661 1 STECKERTEIL NR.1786844 LGEX,LKV,LGUEX, 12.57

2030 9414927 1 VERBINDUNGSKABEL RS­485 5M 18.07

2040 6125223 1

2050 6342075 1

2060 6125225 1

2070 7501007 1

9899 ­­­­­­­ 0

9910 7083001 1 BEDIENUNGSANLEITUNG FKUV16 0.00

+ 9920 9881309 1 VERPACKUNG VOLLST 55.12

9930 8041443 1 KARTON GGU 1500,1550 14.92

+ 9940 8409028 1 EDELSTAHLPFLEGER NEOBLANK 50ML 14.92




